CHEMISTRY
PAPER 1
(THEORY)

Maximum Marks: 70
Time Allotted: Three Hours
Reading Time: Additional Fifteen minutes

Instructions to Candidates

. You are allowed an additional fifteen minutes for only reading the

question paper.

You must NOT start wri ting during the reading time.,

This question paper has 11 printed pages and one blank page.

It is divided into four sections and has twenty one questions in all.

Answer all questions.

Section A has fourteen subparts. Each question carries 1 mark.

While attempting Multiple Choice Questions in Section A, you are
required to write only ONE option as the answer.

Section B has ten questions. Each question carries 2 marks.

Section C has seven questions. Each question carries 3 marks.

. Section D has three questions. Each question carries 5 marks.
. Internal choices have been provided in one question each in Sections B,

C and D,

12, The intended marks for questions are given in brackets [ ].
13. All working, including rough work, should be done on the same sheet as,

and adjacent to the rest of the answer.
14. Balanced equations must be given wherever possible and diagrams where

they are helpful.
15. When solving numerical problems, all essential workings must be shown.
16. In working out problems, use the following data:

Gas constant R=1-987¢al deg'mol!= 831 4JK mol!= 0-082 1 dratmK- mot
| I Latm =1dp'atm=101-3J, I Faraday = 96500 coulombs,
Avogadro's number= 6:023 % 1 (%
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(v} Which one of the following does NOT fo
with Tollen's reagent?
(a) Glucose
(b)) Fructose
(€) Sucrose
(d} Laoctose
(v) The coordination number and the oxidation state of the central metal ‘D’
in the complex [Dfen):(H:0):)Cly are:
(@) 6and 2 respectively
(b) 4 and 2 respectively /
(g) 3and 6 respectively
(d) 6and 3 respectively
(vi) Given below are two statements marked Assertion and Reason. Read the
twa statements carefully and select the correct option.
Assertion: The process of halogenation of benzene takes place in the
presence of anhydrous FeCls.
Reason: Anhydrous FeCls prepares nucleophile to attack the benzene nng.
(a2) Both Assertion and Reason are true and Reason is the comrect
explanation for Assertion.
(b) Both Assertion and Reason are true but Reason is not the comect
explanation for Assertion.
(c) Assertion is true and Reason 1s false.
(d) Both Assermon and Reason are false.
(vii) Given below are two statements marked Assertion and Reason. Read the
two statements carcfully and select the correct option
Assertion: The Zr-Hf pair of elements has the same value of atomic radi
though Zr and Hf are placed in different peniods in the periodic
table.
Reason: The lanthanoid contraction prevents the expected increase in
atomic radii of HE.
(a) Both Assertion and Reason are true and Reason is the correct
explanation for Assertion,
(b) Both Assertion and Reason are true but Reason is not the correct
‘explanation for Assertion.
{:} Assertion 18 true and Reason is {hlse.
{d) Both Assertion and Reason are false.
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Question 16

)

(i)

Answer the following guestions.
i node and cathode half

(a) By referming to electrochemical senies, how can @
cells be identified in a galvanic cell?

(b)  What 15 the role of salt bridge in a galvanic cell?

() Wnite an advantage and a disadvantage of a fuel cell.

OR

Answer the following questions.

(@) Specific conductance of a solution decreases upon dilution. Wy

(b} The emf of a cell should be positive for a spontancous reaction. Give:d
reason.

(c) Name the type of cell in which reaction occurs enly in one direction and
cannot be reversed by an external energy source. Write any one
disadvantage of this type of cell.

Question 17

(1)

(11)

{111)

The structure of amino acid exists in the following two forms:
7 i
R—CH— C—OH &> R — CH— C—0°
WH: "NH3

The above structure is an example of . If the side chain R is
replaced by hydrogen, the amino acid is known as

Janice notices that her gums bleed while brushing and eating food. Name the
water soluble vitamin which she should cansume to prevent bleeding of gums,

Which linkage holds two units of monosaccharides in a disaccharide?

13]

[3]
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